@ kéx Kéf @ quatro fragdes, ordem das operagoes

Nome: Encontro: Data: Pontuagao:
3X%+3—§= 12X%+4—§=
40><§+10—%= 80><1—8+%=
Sx2e1- ] S6% 3 +8- 7 =
6% 3+ ¢ - SHOx -

2 1 1
14x 2224 -= —10x = +2=
5 6 2
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@ kéx g @ quatro fragdes, ordem das operagoes

Nome: Encontro: Data: Pontuagao:
1 35 1 1 3 2
i S Dx2+4-2="
3xz 733 = =010 3 55
3 111 1 1
40x 2 +10— 2= — —5- ligi-=2
0x3710=5=5 753 80578+ 3
2 1 17 5 1 1 13 1
2% 3 26 76 S R
125 1 1 6 1
S S L igxosl= 23t
S TR 973 5 73
2 1 89 29 2 1 21 1
UxZap+o= 22 Z 0% =+2= () =(2—)
5 6 30 “30 5 2 10 10
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